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Answer all the Questions

Section I: Read the following passage and then answer the questions that follow :

Recent technological advances in manned and unmanned undersea vehicles, along with breakthroughs
in satellite technology and computer equipment, have overcome some of the limitations of divers and diving
equipment for scientists doing research on the great oceans of the world. Without a vehicle, divers often
became s/uggish, and their mental concentration was severely limited. Because undersea pressure affects their
speech organs, communication among divers has always been difficult or impossible. But today, most
oceanographers avoid the use of vulnerable human divers, preferring to reduce the risk to human life and
make direct observations by means of instruments that are lowered into the ocean, from samples taken from
the water, or from photographs made by orbiting satellites. Direct observations of the ocean floor can be made
not only by divers but also by deep-diving submarines in the water and even by the technology of
sophisticated aerial photography from vantage points above the surface of the water. Some submarines can
dive to depths of more than seven miles and cruise at depths of fifteen thousand feet.

In addition, radio equipped buoys can be operated by remote control in order to transmit information
back to land-based laboratories via satellite. Particularly important for ocean study are data about water
temperature, currents, and weather. Satellite photographs can show the distribution of sea ice, oil slicks, and
cloud formations over the ocean. Maps created from satellite pictures can represent the temperature and the
color of the ocean's surface, enabling researchers to study the ocean currents from laboratories on dry land.
Furthermore, computers help oceanographers to collect, organize, and analyze data from submarines and
satellites. By creating a model of the ocean's movement and characteristics, scientists can predict the patterns
and possible effects of the ocean on the environment.

Recently, many oceanographers have been relying more on satellites and computers than on research
ships or even submarine vehicles because they can supply a greater range of information more quickly and
more effectively. Some of humankind's most serious problems, especially those concerning energy and food,
may be solved with the help of observations made possible by this new technology.

1. With what topic is the passage primarily concerned?

A. Technological advances in oceanography B. Communication among divers
C. Direct observation of the ocean floor D. Undersea vehicles

2. The word sluggish in paragraph 1 is closest in meaning to

A. nervous B. confused C. slow moving D. very weak

3. Divers have had problems in communicating underwater because

A. the pressure affected their speech organs B. the vehicles they used have not been perfected

C. they did not pronounce clearly D. the water destroyed their speech organs

4. This passage suggests that the successful exploration of the ocean depends upon

A. radios that divers use to communicate B. vehicles as well as divers

C. controlling currents and the weather D. the limitations of diving equipment

5. Undersea vehicles

A. are too small for a man to fit inside B. are very slow to respond

C. have the same limitations that divers have D. make direct observations of the ocean floor

6. The word cruisein paragraph 1 could best be replaced by
A. stay in communication B. function without problems C. travel at a constant speed D. remain still
7. How is a radio-equipped buoy operated?

A. By operators inside the vehicle in the part underwater

B. By operators outside the vehicle on a ship



C. By operators outside the vehicle on a diving platform
D. By operators outside the vehicle in a laboratory on shore

8. Which of the following are NOT shown in satellite photographs?
A. The temperature of the ocean's surface B. Cloud formations over the ocean
C. A model of the ocean's movements D. The location of sea ice

9. The pronoun #hosein paragraph 3 refers to
A. humankind's most serious problems.  B. People. C. Technologies. D.computers
10. The pronoun #zeirin paragraph 1 refers to
A. computers. B. divers. C. drivers. D. vehicles

st e el sl el sl ol ol ol el sl s ol sttt sl sl o el ok ootk o el ol ok ek

Section II: Underline the correct answer:

11. Sameer (be) an excellent student.
A. s B. were C. are D. been
12. These days Ali a good story.
A. wrote B. was writing C.iswriting  D. write
13. The leaders of the two countries an agreement to avoid future conflicts.
A. have recently reach  B. recently reach  C. have reached recently ~ D. have recently reached
14. The rain forest, large trees that provide shade to the vegetation below. is home to unique
flora and fauna. A. has B. with its C.and D. although has
15. Not all textbooks that have been written on this subject as detailed as this one.
A. with B. to C. be D. are
16. The oldest tree in this part of the world is the redwood, __thousands of years old.
A. which may be B. its age C. and which D.itis
17. Instructors who teaching ability are prevalent at this university because publishing is one of
the major criteria for tenure.
A. lack B. without C. do not D. no have
18. Despite the polar bear’s tremendous weight and height, of sprinting at tremendous speed.
A. ability B. is capable C.itis able D. it is capable
19. This admission test can easily by the intelligent students.
A. answers B. answered C. be answered D. answering
20. If I studied very well, | all these questions
A. Will answer B. would answered C. would answer D. will be answering
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Section III: Select the one underlined word or phrase that is /ncorrect:
21. The huge increase in popularity of specialty coffees contribution to the success of Starbucks. Barney's

A B C
and other coffee purveyors.
D
22. After it had conclude work on the budget, the legislature adjourned until the next session.
A B C D
23. Even when awarded a scholarship, a student generally must still paying for books, living expenses,
A B C
and other costs.
D
24. The U.S. government, along with a number of states, is fight a protracted legal battle with tobacco
A B
companies in order to obtain relief for the huge medical costs caused by smoking,
C D
25. The teachers are expecting to call tomorrow a meeting in order to review the disciplinary problems.
A B C D
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Wish You All the Best
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Answer all the Questions

Section I: Read the following passage and then answer the questions that follow :

Recent technological advances in manned and unmanned undersea vehicles, along with breakthroughs
in satellite technology and computer equipment, have overcome some of the limitations of divers and diving
equipment for scientists doing research on the great oceans of the world. Without a vehicle, divers often
became sluggish, and their mental concentration was severely limited. Because undersea pressure affects
their speech organs, communication among divers has always been difficult or impossible. But today, most
oceanographers avoid the use of vulnerable human divers, preferring to reduce the risk to human life and
make direct observations by means of instruments that are lowered into the ocean, from samples taken from
the water, or from photographs made by orbiting satellites. Direct observations of the ocean floor can be made
not only by divers but also by deep-diving submarines in the water and even by the technology of
sophisticated aerial photography from vantage points above the surface of the water. Some submarines can
dive to depths of more than seven miles and cruise at depths of fifteen thousand feet.

In addition, radio equipped buoys can be operated by remote control in order to transmit information
back to land-based laboratories via satellite. Particularly important for ocean study are data about water
temperature, currents, and weather. Satellite photographs can show the distribution of sea ice, oil slicks, and
cloud formations over the ocean. Maps created from satellite pictures can represent the temperature and the
color of the ocean's surface, enabling researchers to study the ocean currents from laboratories on dry land.
Furthermore, computers help oceanographers to collect, organize, and analyze data from submarines and
satellites. By creating a model of the ocean's movement and characteristics, scientists can predict the patterns
and possible effects of the ocean on the environment.

Recently, many oceanographers have been relying more on satellites and computers than on research
ships or even submarine vehicles because they can supply a greater range of information more quickly and
more effectively. Some of humankind's most serious problems, especially those concerning energy and food,
may be solved with the help of observations made possible by this new technology.

1. The word s/uggish in paragraph 1 is closest in meaning to
A. nervous B. confused C. slow moving D. very weak
2. The pronoun thosein paragraph 3 refers to
A. humankind's most serious problems. ~ B. People. C. Technologies. D. computers
3. Undersea vehicles

A. are too small for a man to fit inside B. are very slow to respond
C. have the same limitations that divers have D. make direct observations of the ocean floor
4. The underlined pronoun #heirin paragraph 1 refers to
A. computers. B. divers. C. drivers. D. vehicles
S. Divers have had problems in communicating underwater because
A. the pressure affected their speech organs B. the vehicles they used have not been perfected
C. they did not pronounce clearly D. the water destroyed their speech organs
6. This passage suggests that the successful exploration of the ocean depends upon
A. radios that divers use to communicate B. vehicles as well as divers
C. controlling currents and the weather D. the limitations of diving equipment
7. With what topic is the passage primarily concerned?
A. Technological advances in oceanography B. Communication among divers

C. Direct observation of the ocean floor D. Undersea vehicles



8. Which of the following are NOT shown in satellite photographs?
A. The temperature of the ocean's surface B. Cloud formations over the ocean
C. A model of the ocean's movements D. The location of sea ice
9. The word cruise in paragraph 1 could best be replaced by
A. stay in communication B. function without problems C. travel at a constant speed D. remain still
10. How is a radio-equipped buoy operated?
A. By operators inside the vehicle in the part underwater
B. By operators outside the vehicle on a ship
C. By operators outside the vehicle on a diving platform
D. By operators outside the vehicle in a laboratory on shore
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Section II: Select the one underlined word or phrase that is incorrect:

11. The huge increase in popularity of specialty coffees contribution to the success of Starbucks,

A B C
Barney’s and other coffee purveyors.
D
12, After it had conclude work on the budget, the legislature adjourned until the next session.
A B C D
13. Even when awarded a scholarship, a student generally must still paying for books, living expenses, and
A B C
other costs.
D
14. The U.S. government, along with a number of states, is fight a protracted legal battle with tobacco
A B
companies in order to obtain relief for the huge medical costs caused by smoking.
C D
15. The teachers are expecting to call tomorrow a meeting in order to review the disciplinary problems.
A B C D
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Section IIl: Underline the correct answer:

16. Sameer (be) an excellent student,
A. is B. were C. are D. been
17. These days Ali a good story.,
A. wrote B. was writing C.iswriting  D. write
18. The leaders of the two countries an agreement to avoid future conflicts.
A. have recently reach  B. recently reach  C. have reached recently — D. have recently reached
19. The rain forest, large trees that provide shade to the vegetation below, is home to unique
flora and fauna. A. has B. with its C. and D. although has
20. Not all textbooks that have been written on this subject as detailed as this one.
A. with B.to C. be D. are
21. The oldest tree in this part of the world is the redwood, thousands of years old.
A. which may be B. its age C. and which D.itis
22. Instructors who teaching ability are prevalent at this university because publishing is one of
the major criteria for tenure.
A. lack B. without C. do not D. no have
23. Despite the polar bear’s tremendous weight and height, of sprinting at tremendous speed.
A. ability B. is capable C.itis able D. it is capable
24. This admission test can easily by the intelligent students.
A. answers B. answered C. be answered D. answering
25. If I studied very well, | all these questions
A. Will answer B. would answered C. would answer D. will be answering
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Wish You All the Best
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